Problem set 2. ECON 4715
Seminar week 38
A) EQUILIBRIUM SEARCH 

Consider the equilibrium search model of section 2.1.2. 
The condition for a stationary equilibrium equates the flows into and out of the wage distribution below any given wage w. Show that this condition implies equality of hires and separations from any firm offering the wage w. 
The stationary employment level of a firm offering a wage w in this model is given by
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where x is the reservation wage of the workers. Assume that a minimum wage is set to ω Show that 
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in this case. 

B) LABOUR DEMAND
Discuss the impact of market power in both the product market and in the labour market for the relationship between the real wage and the marginal productivity of labour.

Discuss the effect on the employment level of a firm of a minimum wage increase under a) perfect competition in the labour market, and b) traditional monopsony. 

Discuss the difference between a firm’s demand elasticity of labour demand and the demand elasticity at the industry level.

Which is the more elastic, the short run elasticity of labour demand or the long run elasticity of demand.?
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